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Alternate tag = 

The estimate of average height equals ((sum of weight times height of each respondent in group 1) + (sum of weight times height of each respondent in group 2)) then divides by ((sum of weight of each respondent in group 1) + (sum of weight of each respondent in group 2))
Formula2 (page 1 in the PDF file):
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Alternate tag = 

The estimate of average height equals ((census total times R for group 1) + (census total times R for group 2)) then divides by (census total for group 1 + census total for group 2)
Formula3 (page 1 in the PDF file):
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Alternate tag = 

R equals sum of weight times height of each respondent for a group then divided by sum of weight of each respondent for that group
Formula4 (page 1 in the PDF file):
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Alternate tag = 
The estimated census total for a group equals sum of weight for that group
Formula5 (page 2 in the PDF file):
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Alternate tag = 
The estimate of average height equals ((the estimated census total times R for group 1) + (the estimated census total times R for group 2)) then divides by (the estimated census total for group 1 + the estimated census total for group 2
Formula6 (page 2 in the PDF file):
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Alternate tag = 
The weight adjustment equals the census total for the ith group times each weight in that group then divides by the estimated census total for that group
Formula7 (page 2 in the PDF file):
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Alternate tag = 
The estimate of average height equals sum of census total times R for each cell divides by sum of census total for each cell
Formula8 (page 3 in the PDF file):
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Alternate tag = 
The estimate of average height over age equals sum of census total times R for each cell divides by sum of census total for each cell

